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Trigonometry - Questions

The graph of y = asin bx° is shown, what are the values of a and b?
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0 90 1 270 0
-2
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The graph of y = acos(x — b)° is shown, what are the values of a and b?
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45 a0 1 180 225 270 15 360
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The graph of y = asin(x + b)° is shown, what are the values of a and b?

5 0 45 90 13 180 225 270 15 360
-1

Solve the equation for 0 < x < 360°

3cosx—1=0
2tanx —2 =0
S5cosx+4=0
tanx+1=0
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Trigonometry - Solutions

a=2b=3
a=3,b=45
a=3b=45

x = 70.5° x = 289.5°
x = 45° x = 225°
x =143°x =217°

x = 135°x = 315°
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